b ok

EEEIN DR e

DELHI DEVELOPMENT AUTHORITY
RECRUITMENT (CFLL
VIKAS SADAN. INA. NEW DELHI - 110023
(https://www.dda.gov.in)

Advertisement No. 02/2023/Rectt. Cell/Pers/DDA

PParticipant ID
Participant Name
Test Center Name
Test Date 20/09/2023

Test Time 8:30 AM - 9:30 AM

ISubject Junior Secretariat Assistant




Q.1 Four options have been given, out of which three are alike in some manner and one is

different. Select the one that is different.

Ans X 1.IPTM
o 2. FRTW
5 3. UKTR
£ 4. ATIM
Question ID : 630680369867
Option 11D : 6306801440863
Option 2 ID : 6306801440862
Option 3 ID : 6306801440864
Option 4 ID : 6306801440861
Status : Answered
Chosen Option : 2
Q.2 If A stands for ‘-, B stands for ‘+’, C stands for ‘x’ and D stands for ‘+’, then what is the
value of [16D(2B6)]A(34D17)C3 ?
Ans 1.4
K222
03,15
5 4.8
Question ID : 630680369881
Option 11D : 6306801440918
Option 2 ID : 6306801440920
Option 3 ID : 6306801440917
Option 4 ID : 6306801440919
Status : Answered

Chosen Option :

1




Q.3 Four combinations have been given, out of which three are alike in some manner and

one is different. Select the one that is different.

Ans X 1.PB9
o 2. UK16
25 3. RD11
25 4. MN13
Question ID : 630680369874
Option 1 ID : 6306801440889
Option 2 ID : 6306801440891
Option 3 ID : 6306801440892
Option 4 ID : 6306801440890
Status : Not Answered
Chosen Option : --
Q.4 Four words have been given, out of which three are alike in some manner and one is
different. Select the one that is different.
Ans X 1.Frog
25 2. Snake
# 3. Fish
o 4. Goat
Question ID : 630680369866
Option 1 ID : 6306801440860
Option 2 ID : 6306801440858
Option 3 ID : 6306801440859
Option 4 ID : 6306801440857
Status : Answered
Chosen Option : 4




Q.5

Ans

ZA, DE, HI, LM, ?
What will come in place of the question mark?

X 1.MN
X 2.0Q
« 3.PQ
X 4.0P

Question ID : 630680369875
Option 1 ID : 6306801440894
Option 2 ID : 6306801440893
Option 3 ID : 6306801440896
Option 4 ID : 6306801440895
Status : Answered
Chosen Option : 1

Q.6 Eight boxes, P, Q,R, S, T, U, Vand Y are placed one above the other in any particular
order, not necessarily in same order. Three boxes are placed between P and Q. Box Y
is placed immediately below P. There are two boxes between Y and V. There are as
many boxes between R and S as between Y and Q. Box R is kept above S. Box T is

Ans

kept immediately below box S. Three boxes are kept between T and U.
How many boxes are there above box S?

X 1.5
X 26
X 3.3
& 4.4

Question ID : 630680369861
Option 1 ID : 6306801440839
Option 2 ID : 6306801440837
Option 3 ID : 6306801440840
Option 4 ID : 6306801440838
Status : Answered
Chosen Option : 1




Q.7 In a certain code language ‘ROMILA’ is coded as ‘ORMIAL’. What is the code for

‘RISHIK’?
Ans X 1.IRHSIK
& 2. IRHSKI
5 3. RISKHI
o 4. IRSHKI
Question ID : 630680369868
Option 1 ID : 6306801440866
Option 2 ID : 6306801440867
Option 3 ID : 6306801440868
Option 4 ID : 6306801440865
Status : Answered
Chosen Option : 2
Q.8 If all the digits are dropped in the given series, which of the following is tenth from the
left end?
BH#LA4$P&6R7% GSU3@O#B2A!12L#C?5E3$S7@D
Ans X 1.Z
X 2.A
X3@
o 4.9
Question ID : 630680369876
Option 1 ID : 6306801440897
Option 2 ID : 6306801440898
Option 3 ID : 6306801440900
Option 4 ID : 6306801440899
Status : Answered
Chosen Option : 3




Q.9 Select the number from among the given options that can replace the question mark
(?) in the following series.

0, 14, ? 252
Ans X 1.35
X 2.68
& 3.82
o 4.78
Question ID : 630680369878
Option 1 ID : 6306801440905
Option 2 ID : 6306801440907
Option 3 ID : 6306801440906
Option 4 ID : 6306801440908
Status : Not Answered
Chosen Option : --
Q.10 Read the following statements and conclusion and choose the best option among the
following.
Statements:
Some parsley are mushrooms.All parsleys are radish.
Conclusions:
1. All mushrooms are parsley.
2. At least some mushrooms are radish.
Ans X 1.Both 1 and 2 follows
% 2. Only 2 conclusion follows
< 3. Only 1 conclusion follows
< 4. Neither 1 nor 2 follows
Question ID : 630680369869
Option 1 ID : 6306801440869
Option 2 ID : 6306801440872
Option 3 ID : 6306801440870
Option 4 ID : 6306801440871
Status : Answered
Chosen Option : 3




Q.11 Five friends are sitting in a row facing the south direction. Among them, Suraj is

between Rakesh and Sundar, Sundar is to the intermediate right of Manoj. In the same

way, Alok is to the right of Rakesh. Who is at the extreme end?

Ans X 1.Rakesh
< 2. Sundar
< 3. Surgj
«” 4. Alok
Question ID : 630680369858
Option 1 ID : 6306801440826
Option 2 ID : 6306801440827
Option 3 ID : 6306801440828
Option 4 ID : 6306801440825
Status : Answered
Chosen Option : 2
Q.12 Select the number from among the given options that can replace the question mark
(?) in the following series.
6,13, 22, ?, 46
Ans X 1.31
2,39
« 3.33
4.28
Question ID : 630680369877
Option 1 ID : 6306801440901
Option 2 ID : 6306801440904
Option 3 ID : 6306801440902
Option 4 ID : 6306801440903
Status : Answered
Chosen Option : 3




Q.13 Four letter clusters have been given, out of which three are alike in some manner and

one is different. Select the one that is different.

Ans X 1.DGKP
& 2.CFJO
25 3. BEIN
o 4. ADHL
Question ID : 630680369872
Option 1 ID : 6306801440884
Option 2 ID : 6306801440882
Option 3 ID : 6306801440883
Option 4 ID : 6306801440881
Status : Answered
Chosen Option : 4
Q.14 Eight friends |, J, K, L, M, N, O and P are sitting at a circular table facing the centre. J is
sitting between O and L. P is third to the left of J and second to the right of I. K is
sitting between | and O. J and M are not sitting opposite to each other. Who is sitting
third to the left of L?
Ans o 1.N
K 2.P
X 3.K
s 4.0
Question ID : 630680369859
Option 11D : 6306801440831
Option 2 ID : 6306801440829
Option 3 ID : 6306801440830
Option 4 ID : 6306801440832
Status : Answered
Chosen Option : 3




Q.15 Find the odd word out ?
Ans X 1. Turtles

o 2. Cats
< 3. Snakes
< 4. Lizards
Question ID : 630680369880
Option 1 ID : 6306801440916
Option 2 ID : 6306801440913
Option 3 ID : 6306801440915
Option 4 ID : 6306801440914
Status : Answered
Chosen Option : 2
Q.16 Read the given statements and conclusions carefully. Assuming that the information
given in the statements is true, even if it appears to be at variance with commonly
known facts, decide which of the given conclusions logically follow(s) from the
statement(s).
Statements:
All trees are water.
Some water are clean.
Conclusions:
1. Some water are trees.
2. All clean are water.
Ans X 1. Neither conclusion 1 nor 2 follows
#% 2. Both conclusions 1 and 2 follow
«” 3. Only conclusion 1 follows
#5 4. Only conclusion 2 follows
Question ID : 630680369862
Option 1 ID : 6306801440844
Option 2 ID : 6306801440843
Option 3 ID : 6306801440841
Option 4 ID : 6306801440842
Status : Answered
Chosen Option : 4




Q.17 Read the given statements and conclusions carefully. Assuming that the information
given in the statements is true, even if it appears to be at variance with commonly
known facts, decide which of the given conclusions logically follow(s) from the
statement(s).

Statements:
Some oxen are COws.
All cows are horses.

Conclusions:
1. No oxen are cows.
2. Some oxen are horses.

Ans & 1. Only conclusion 2 follows
75 2. Neither conclusion 1 nor 2 follows
< 3. Only conclusion 1 follows

< 4. Both conclusions 1 and 2 follow

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

630680369863
6306801440846
6306801440848
6306801440845
6306801440847
Answered

2

Q.18 Which will replace the question mark?
2,4,6,8,10,.....7

Ans X 1.18
5 2.20
< 3.22
& 4.12

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

630680369879
6306801440910
6306801440912
6306801440909
6306801440911
Answered

4




Q.19 Select the option that is related to the third term in the same way as the second is
related to the first.
AF:ZU::BG:?

Ans X 1.TX
o 2.YT
K3V
&K4XT
Question ID : 630680369870
Option 1 ID : 6306801440876
Option 2 1D : 6306801440873
Option 3 ID : 6306801440874
Option 4 ID : 6306801440875
Status : Answered
Chosen Option : 2
Q.20 Select the letter from among the given options that can replace the question mark (?)
in the following series.
R,Q,O,L,?,C
Ans X 1.J
K 2K
o 3. H
K4F
Question ID : 630680369864
Option 1 ID : 6306801440852
Option 2 1D : 6306801440849
Option 3 ID : 6306801440851
Option 4 1D : 6306801440850
Status : Answered
Chosen Option : 3




Q.21 Which of the following interchange of mathematical signs would make the given
equation correct?
27-3x18+9+14+[7+10+ (15+5%x2)] =125

Ans X 1.xand+
& 2. +and-
25 3. xand+
o 4. vand-
Question ID : 630680369882
Option 1 ID : 6306801440924
Option 2 ID : 6306801440922
Option 3 ID : 6306801440921
Option 4 ID : 6306801440923
Status : Not Answered
Chosen Option : --
Q.22 Select the letter-cluster from among the given options that can replace the question
mark (?) in the following series.
MN39, OP52, QR65, ?
Ans X 1.RS78
5 2.8T70
& 3.8T91
o 4.ST78
Question ID : 630680369865
Option 1 ID : 6306801440855
Option 2 ID : 6306801440854
Option 3 ID : 6306801440856
Option 4 ID : 6306801440853
Status : Answered
Chosen Option : 3




Q.23 Select the option that is related to the third term in the same way as the second is

Ans

related to the first.

14 NOVEMBER : CHILDREN’S DAY :: 1 MAY : ?

#< 1. AMERICAN LABOUR DAY

# 2. HONESTY DAY

«” 3. INTERNATIONAL LABOUR DAY
/5 4. NATIONAL LABOUR DAY

Question ID :
Option 11D :
Option 21D :
Option 31D :

Option 4 ID

630680369871

6306801440879
6306801440877
6306801440880

: 6306801440873
Status :
Chosen Option :

Answered
3

Q.24 Four letter clusters have been given, out of which three are alike in some manner and

Ans

one is different. Select the one that is different.

X 1.EVUF
X 2. CXWD
& 3.AZYB
" 4. DWXE

Question ID :
Option 11D :

Option 2 ID

630680369873
6306801440885

: 6306801440887
Option 31D :
Option 41D :

Status :

Chosen Option :

6306801440886
6306801440888
Answered

4




Q.25 If today is Monday, then what day of the week was 2 days before yesterday?
Ans 1. Friday

5 2. Wednesday
75 3. Thursday

75 4. Tuesday
Question ID : 630680369860
Option 1 ID : 6306801440836
Option 2 ID : 6306801440834
Option 3 ID : 6306801440833
Option 4 ID : 6306801440835
Status : Answered
Chosen Option : 1
Section : General Awareness
Q.1 is the biography of Indian professional tennis player Sania Mirza. The
book reveals the physical and emotional trauma caused by injuries and medical
procedures, of the friends and partners who became her mainstay along with her
family, of the pressures of constant public scrutiny and, not least of all, the politics
and heartbreaks that inevitably accompany success.
Ans X 1. The Test of My Life
25 2. Playing It My Way
" 3. Ace against Odds
25 4. Straight from the Heart
Question ID : 630680369848
Option 1 ID : 6306801440785
Option 2 ID : 6306801440788
Option 3 ID : 6306801440787
Option 4 ID : 6306801440786
Status : Answered
Chosen Option : 3




Q.2 As per Census 2011, which of the following three States showed decline in sex ratio as

compared to Census 20017
Ans X 1. Jammu and Kashmir, Bihar and Rajasthan

&” 2. Jammu and Kashmir, Bihar and Gujarat
< 3. Madhya Pradesh, Bihar and Punjab
< 4. Uttar Pradesh, Bihar and Gujarat

Question ID :
Option 11D :

Option 2 ID

630680369856
6306801440817

: 6306801440818
Option 31D :
Option 4 ID :

Status :

Chosen Option :

6306801440820
6306801440819
Answered

1

Q.3 The longitudinal valley lying between lesser Himalaya and the Shiwaliks is known as

Ans X 1.Brunds
o 2. Duns
< 3. Moans
25 4. Huns

Question ID

Option 4 ID

: 630680369853
Option 11D :
Option 21D :
Option 31D :

6306801440807
6306801440806
6306801440805

: 6306801440808
Status :
Chosen Option :

Answered
2




Q.4 Lui-Ngai-Ni is a festival that is celebrated in the state of

Ans X 1. Mizoram
«” 2. Manipur
#< 3. Himachal Pradesh

X 4. Goa
Question ID : 630680369851
Option 11D : 6306801440799
Option 2 ID : 6306801440800
Option 3 ID : 6306801440798
Option 4 ID : 6306801440797

Status : Answered
Chosen Option : 3
Q.5 Which of the following organisations has been INCORRECTLY paired with the year in
which it was founded?
Ans X 1. Satyashodhak Samaj— 1873

o’ 2. Prarthana Samaj — 1885

25 3. Arya Samaj — 1875

< 4. Veda Samaj — 1864
Question ID : 630680369842
Option 1 ID : 6306801440763
Option 2 ID : 6306801440761
Option 3 ID : 6306801440764
Option 4 ID : 6306801440762

Status : Answered
Chosen Option : 2




Q.6 Which of the following rulers is correctly matched with the period during which he

Ans

ruled?

#< 1. Khizr Khan — 1206-1210

#< 2. Qutbuddin Aybak — 1451-1489
#< 3. Bahlul Lodi — 1414-1421

«” 4. Ghiyasuddin Balban — 1266-1287

Question ID : 630680369845
Option 11D : 6306801440773
Option 2 ID : 6306801440776
Option 3 ID : 6306801440774
Option 4 ID : 6306801440775
Status : Not Answered
Chosen Option : --
Q.7 What was the age of Babur, the first Mughal emperor (1526 —1530), when he succeeded
to the throne of Ferghana in 1494?
Ans X 1.13 years
5 2. 15 years
o 3. 12 years
< 4.18 years
Question ID : 630680369844
Option 11D : 6306801440770
Option 2 ID : 6306801440771
Option 3 ID : 6306801440769
Option 4 ID : 6306801440772
Status : Not Answered

Chosen Option :




Q.8 Which Indian sportsperson won Gold in the men’s decathlon event at the Asian U20
Athletics Championships held in Yecheon, South Korea in June 2023?

Ans o 1. Sunil Kumar
#5 2. Bharatinder Singh
< 3. Shivam Lohakare
< 4. Siddharth Choudhary

Question ID : 630680369833
Option 1 ID : 6306801440728
Option 2 ID : 6306801440726
Option 3 ID : 6306801440727
Option 4 ID : 6306801440725
Status : Not Answered
Chosen Option : ==
Q.9 The scheme , which seeks to provide financial
assistance to students who clear preliminary examinations conducted by the UPSC,
SSC and State PSCs, had zero allocation in the budget 2023-24.
Ans X 1. Maulana Azad National Fellowship

& 2. Naya Savera

" 3. Nai Udaan

< 4. Padho Pardesh
Question ID : 630680369837
Option 1 ID : 6306801440742
Option 2 ID : 6306801440741
Option 3 ID : 6306801440744
Option 4 ID : 6306801440743

Status : Answered
Chosen Option : 3




Q.10 On which of the following dates was the Second Advance Estimates of National
Income for the year 2022-23 released?

Ans X 1.31st March 2023
75 2. 31st December 2022
«” 3. 28th February 2023

5 4. 1st January 2023

Question ID : 630680369840
Option 1 ID : 6306801440755
Option 2 ID : 6306801440756
Option 3 ID : 6306801440754
Option 4 ID : 6306801440753
Status : Not Answered
Chosen Option : --
Q.11 Which of the following is a Buddhist festival that is celebrated in Sanchi, Madhya
Pradesh in late November every year? It attracts hundreds of Buddhist monks and
pilgrims, who come here to pay their respects to the relics of two of the Buddha’s
foremost disciples, Sari Putta and Maha Moggallana.
Ans X 1. Math Ghoghara Fair
75 2. Hira Bhumia Fair
«” 3. Chethiyagiri Vihara Festival
25 4. Dhamoni Urs
Question ID : 630680369852
Option 11D : 6306801440803
Option 2 ID : 6306801440804
Option 3 ID : 6306801440802
Option 4 ID : 6306801440801
Status : Answered

Chosen Option :

1




Q.12 The rise of the

began with Simhavishnu about the middle of 6th Century

AD.
Ans o 1. Pallavas
75 2. Cheras
% 3. Cholas
/5 4. Pandyas
Question ID : 630680369843
Option 1 ID : 6306801440765
Option 2 ID : 6306801440767
Option 3 ID : 6306801440766
Option 4 ID : 6306801440768
Status : Not Answered
Chosen Option : --
Q.13 Which of the following statements is/are correct about tropical evergreen forests?
A. These forests are restricted to heavy rainfall areas of the Western Ghats and the
island groups of Lakshadweep, Andaman and Nicobar, upper parts of Assam and the
Tamil Nadu coast.
B. There is no definite time for trees to shed their leaves. As such, these forests
appear green all year round.
C. Since the region is warm and wet throughout the year, it has luxuriant vegetation of
all kinds — trees, shrubs and creepers — giving it a multilayered structure.
Ans X 1.0nlyB
o 2.0nlyBand C
X 3.A,BandC
X 4.0nlyAandC
Question ID : 630680369855
Option 1 ID : 6306801440813
Option 2 ID : 6306801440815
Option 3 ID : 6306801440816
Option 4 ID : 6306801440814
Status : Answered
Chosen Option : 3




Q.14 In May 2023, India won the title of the NSC-CAVA Women’s Volleyball Challenge Cup

Ans

held in Kathmandu by defeating
& 1. Uzbekistan

#5 2. Bangladesh
" 3. Kazakhstan

5 4. Maldives
Question ID : 630680369834
Option 1 ID : 6306801440732
Option 2 ID : 6306801440731
Option 3 ID : 6306801440729
Option 4 ID : 6306801440730
Status : Not Answered
Chosen Option : --
Q.15 As of 2nd February 2023, which of the following statements is INCORRECT regarding
welfare schemes for labourers?
Ans X 1. ‘Ayushman Bharat-Pradhan Mantri Jan Arogya Yojana’ (ABPMJAY’) provides an
annual health cover of 5 lakhs per eligible family for secondary and tertiary care
hospitalisation corresponding to 1,949 treatment procedures across 27 specialties.
" 2. Under ‘Pradhan Mantri Kaushal Vikas Yojana’ (‘PMKVY’), 50% monthly contribution
is payable by the beneficiary and an equal matching contribution is paid by the Central
Government, the funds for which are provided to LIC, who is the fund manager.
< 3. The risk coverage under ‘Pradhan Mantri Jeevan Jyoti Bima Yojana’ (‘PMJJBY’) is 32
lakh in case of death of insured due to any reason against an annual premium of 2436, which
is to be auto debited from the subscriber’s bank/Post Office account.
/< 4. The risk coverage under the ‘Pradhan Mantri Suraksha Bima Yojana’ (PMSBY’) is for
%2 lakh in case of accidental death or total permanent disability and %1 lakh for partial
permanent disability due to accident against a premium of 20 per annum — which is to be
deducted from the account holder’s bank/Post Office account through auto-debit.
Question ID : 630680369838
Option 1 ID : 6306801440745
Option 2 ID : 6306801440748
Option 3 ID : 6306801440747
Option 4 ID : 6306801440746
Status : Not Answered
Chosen Option : ==




Q.16 Who wrote the novel ‘The God of Small Things’, which is a critical and realistic

examination of society’s double standard response towards different people according

to their social status and power?

Ans & 1. Arundhati Roy
& 2. Kiran Desai
< 3. Jhumpa Lahiri

& 4. Vikram Seth

Question ID :
Option 11D :
Option 21D :
Option 31D :

Option 4 ID

630680369847

6306801440784
6306801440783
6306801440781

: 6306801440782
Status :
Chosen Option :

Answered
1

Q.17 What is the official language of Goa?
& 1. Hindi

25 2. English

Ans

" 3. Konkani
/< 4. Kannada

Question ID

Option 4 ID

: 630680369849
Option 11D :
Option 21D :
Option 31D :

6306801440790
6306801440791
6306801440792

: 6306801440789
Status :
Chosen Option :

Answered
3




Q.18 Which of the following statements is correct about cells?

Ans X 1. Anton Von Leeuwenhoek observed that all plants are composed of different kinds of
cells which form the tissues of the plant.

< 2. Matthias Schleiden first saw and described a live cell.

«” 3. Schwann proposed the hypothesis that the bodies of animals and plants are
composed of cells and products of cells.

< 4. Robert Hooke discovered the nucleus in the year 1665.

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

630680369857
6306801440823
6306801440821
6306801440824
6306801440822
Answered

4

Q.19 In which year did Malayalam receive the status of Classical Language?
Ans o 1.2013

X 2.2004
X 3.2010
X 4.2008

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

630680369850
6306801440795
6306801440793
6306801440794
6306801440796
Not Answered




Q.20 Shubman Gill, who won the Orange Cap at IPL 2023 with 890 runs in 17 matches, plays

Ans

for
#< 1. Royal Challengers Bangalore

#5 2. Mumbai Indians
«” 3. Gujarat Titans
# 4. Rajasthan Royals

Question ID :
Option 11D :

Option 2 ID

Chosen Option

630680369835
6306801440733

: 6306801440735
Option 31D :
Option 4 ID :

Status :
03

6306801440734
6306801440736
Answered

Q.21 Which of the following awards was instituted by the KK Birla Foundation in 1991 and

Ans

carries a cash prize of 15 lakh, a plaque and a citation?

5 1. Jnanpith Award
5 2. Vyas Samman
«” 3. Saraswati Samman

/< 4. Sahitya Akademi Award

Question ID

Option 4 ID

: 630680369846
Option 11D :
Option 21D :
Option 31D :

6306801440777
6306801440779
6306801440780

: 6306801440778
Status :
Chosen Option :

Answered
4




Q.22 How many drainage basins in India are major river basins with more than 20,000 km?
of catchment area?

Ans X 1.36
o 2. 14
X 3.19
X 4.24

Question ID :

Option 11D :

Option 21D :

Option 31D :

Option 4 ID :

Status :

Chosen Option :

630680369854
6306801440812
6306801440810
6306801440809
6306801440811
Not Answered

Q.23 In which year was the Gandhi-Irwin pact — a political agreement between Mahatma
Gandhi and the Viceroy of India, Lord Irwin — signed?

Ans o 1.1931
< 2.1930
< 3.1919
&K 4.1924

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

630680369841
6306801440760
6306801440759
6306801440757
6306801440758
Not Answered




Q.24 What is the name of the online dredging monitoring system launched by Sarbananda
Sonowal on 9th June 2023 in order to accelerate the ‘Waste to Wealth’ initiative of the

Ministry of Ports, Shipping and Waterways?
Ans X 1. Sachal Sagar

#% 2. Sampurna Suraksha
5 3. Samudra Shakti
¥ 4. Sagar Samriddhi

Question ID :
Option 11D :
Option 21D :
Option 31D :

Option 4 ID

630680369836

6306801440739
6306801440740
6306801440737

: 6306801440738
Status :
Chosen Option :

Not Answered

Q.25 What is the full form of KYC in the context of the banking sector?
Ans X 1. Know Your Card

% 2. Know Your Contribution
25 3. Keep Your Credit
" 4. Know Your Customer

Question ID

Option 4 ID

: 630680369839
Option 11D :
Option 21D :
Option 31D :

6306801440750
6306801440749
6306801440751

: 6306801440752
Status :
Chosen Option :

Not Answered

Section : Quantitative Aptitude (Basic Arithmetic Skill)




Q.1 Hari cycles to market at an average speed of 15 km/hr. It takes 30 minutes to reach the

market. If he wants to reach the market in 20 minutes, what will be the average speed?

Ans o 1.22.5 km/hr
X 2. 22 km/hr
5 3.20 km/hr
£ 4. 25 km/hr
Question ID : 630680369895
Option 1 ID : 6306801440975
Option 2 ID : 6306801440973
Option 3 ID : 6306801440976
Option 4 ID : 6306801440974
Status : Answered
Chosen Option : 3
Q.2 Amisha’s cousin's present age is four times Amisha’s present age. After 10 years, the sum of their ages would be nine
times Amisha’s present age. What is Amisha's and her cousin’s present ages?
Ans 1. 4 years and 16 years
X 2. 8 years and 32 years
« 3. 5 years and 20 years
X 4. 7 years and 28 years
Question ID : 630680369897
Option 1 ID : 6306801440981
Option 2 ID : 6306801440982
Option 3 ID : 6306801440984
Option 4 ID : 6306801440983
Status : Answered
Chosen Option : 2




Q.3 Three pipes H, P and D each can fill a tank from empty to full in 40 minutes, 30

minutes, and 20 minutes, respectively. When the tank is empty, all the three pipes are
opened. Pipes H, P and D discharge different liquids M, N and O, respectively. What is

the proportion of liquid N in the tank after 4 minutes?

Ans 4
1
30
6
)
30
6
53,
13
4
o 4 —
13
Question ID : 630680369894
Option 1 ID : 6306801440970
Option 2 ID : 6306801440971
Option 3 ID : 6306801440972
Option 4 ID : 6306801440969
Status : Answered
Chosen Option : 1
Q.4 The original price of a toy car was 25.700. In the sale, the price was decreased to ¥4,902. What is the percentage
decrease on the original price of the product?
Ans X 1. 20%
X2 17%
X 3. 13%
« 4 14%
Question ID : 630680369886
Option 11D : 6306801440937
Option 2 ID : 6306801440940
Option 3 ID : 6306801440938
Option 4 ID : 6306801440939

Status : Answered

Chosen Option :

1




Q.5 Vivek lends 32,56,000 to Rahul for 4 years. The amount would be 12,96,000 at a certain rate of interest compounded
annually. What is the rate of interest?

Ans ?(1_ 3504

o 2. 50%

X 3 18%

X4 230
Question ID : 630680369892
Option 11D : 6306801440961
Option 2 ID : 6306801440962
Option 3 ID : 6306801440963
Option 4 ID : 6306801440964

Status : Answered
Chosen Option : 2
Q.6  The radius of the arc of a sector is equal to the side of a square with perimeter 56 m. The angle of the sector is 45
Find the area of the sector and the length of its arc, respectively. (Value of m=22/7)
Ans

X1 1232 m?and 21 m

X2 68 m?and 15 m

¢¥3 77m?and 11 m

X4 85m?and 13 m
Question ID : 630680369903
Option 11D : 6306801441008
Option 2 ID : 6306801441005
Option 3 ID : 6306801441006
Option 4 ID : 6306801441007

Status : Not Answered
Chosen Option : ==




Q.7 Arjun spends 85% of his income. His income increases by 25% and his expenditure also increases by 10%. What is the

percentage of the increase in his savings?

Ans K 1. 659,
X 2. 90%
« 3. 110%
X 4 55%
Question ID : 630680369887
Option 1 ID : 6306801440943
Option 2 ID : 6306801440944
Option 3 ID : 6306801440941
Option 4 ID : 6306801440942
Status : Answered
Chosen Option : 3
Q.8 Patrick obtained 78, 74, 75, 65, 85, 75(out of 100) marks in English, Hindi, Maths,
Geography, History and Biology. What is his average marks?
Ans X 1.73.33%
K 2.76%
o 3.75.33%
X 4.74%
Question ID : 630680369904
Option 11D : 6306801441012
Option 21D : 6306801441009
Option 3 ID : 6306801441011
Option 4 ID : 6306801441010
Status : Answered
Chosen Option : 4




Q.9 The height of a cylindrical container is 15 m. The diameter of its base is 700 cm. What will be the cost of painting the

total surface area of the container at 10 per m2? (m=22/7)

Ans X 1. 27,460

X 2. 29,680
« 3. 24,070
X 4. 22,890
Question ID : 630680369901
Option 1 ID : 6306801441000
Option 2 ID : 6306801440997
Option 3 ID : 6306801440999
Option 4 ID : 6306801440998
Status : Answered
Chosen Option : 2
Q10 Solve the equations to get value of the three variables.
prq—-3r=-10
p=gidr=3
ptgq—r=—=06
Ans X 1. p=2,q==1,r=3
X2 p=3,q=-2.r=4
X3 p=-3,q=2,r=+4
4 p=-2,g=1r=3
Question ID : 630680369898
Option 11D : 6306801440986
Option 2 ID : 6306801440987
Option 3 ID : 6306801440988
Option 4 ID : 6306801440985
Status : Answered

Chosen Option :

1




Q.11 The ratio of the height of a tower and the distance between the top of the tower and the end of the shadow of the tower

i5+/3 : 2. What is the angle of elevation of the sun and what is the ratio of the length of the shadow of the tower to the
height of the tower?

Ans X 1. 45%and 1 :4/3
2 60°and 1 : /3
X3 60%and 2 :4/3
X4 45°and 2 :4/3

Option 3 ID
Option 4 ID

Question ID :
Option 11D :
Option 21D :

630680369907
6306801441021
6306801441022

: 6306801441024
: 6306801441023

Status :
Chosen Option :

Not Answered

Q.12 Rashi purchased a table for Z1,700. She spent 2950 to modify the table. After that she sold the table for 22,491, How
much per cent did she gain or lose?

Ans & 1. 6% loss
X 2. 7% gain
X 3. 6% gain
X 4. 7% loss

Option 1 ID

Option 4 ID
Status

Question ID :

630680369888

: 6306801440943
Option 21D :
Option 31D :

6306801440947
6306801440945

: 6306801440946
. Answered
Chosen Option :

1




Q.13 Find the diagonal of the cube whose volume is equal to that of the cuboid with length 21 m, breadth = 7 m and height =

7m.
Ans X 1. 7m
X2 |8m
X3 74/3m
4 21 m
Question ID : 630680369902
Option 11D : 6306801441001
Option 2 ID : 6306801441003
Option 3 ID : 6306801441002
Option 4 ID : 6306801441004
Status : Answered
Chosen Option : 3
Q14 Simplify the following expression.
15210 +234 % (59 -3 x 16) + 637
Ans X 1. 1456
« 2. 1352
X 3. 58240
X 4. 58877
Question ID : 630680369884
Option 11D : 6306801440930
Option 2 ID : 6306801440932
Option 3 ID : 6306801440931
Option 4 ID : 6306801440929
Status : Answered
Chosen Option : 3




Q.15 The mean proportional between 27 and a number is thrice the mean proportional between 9 and 25. Find the number.

Ans X 1. 65
X2 45
X3 25
4 75
Question ID : 630680369890
Option 1 ID : 6306801440956
Option 2 ID : 6306801440954
Option 3 ID : 6306801440955
Option 4 ID : 6306801440953
Status : Answered
Chosen Option : 2
Q16 Tfsin © = 3/5 . then find sec ©.
Ans 4
25 1l
3
=
5 2.0
4
5
o 3. —
4
5
X4
3
Question ID : 630680369905
Option 1 ID : 6306801441015
Option 2 ID : 6306801441014
Option 3 ID : 6306801441016
Option 4 ID : 6306801441013
Status : Not Answered

Chosen Option :




Q.17 Avinash offers a discount of 20% on a refrigerator. After discount he still makes a profit of 46%. The marked price of the

Ans

refrigerator is 23,650. What is the cost price of the refrigerator?

« 1. 22,000
X 2. 33,066
X 3329020
X 4. 32,640

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

630680369889
6306801440951
6306801440950
6306801440949
6306801440952
Not Answered

Q18 What is the value of cos 28 if cos © = 2/5?

Ans

15
20
~17
25
~12
30
4
10

x 1.

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

630680369906
6306801441019
6306801441017
6306801441020
6306801441018
Not Answered




Q.19 Sunny was travelling from his home to the temple. He walked at the speed of 20 kiv/h for half the journey and at the
speed of 5 km/'h for the remaining journey. If the total distance of the temple from his home is 30 km, then what is the
average speed for the total journey?

Ans X 1. 12 km'h

X 2. 18 km'h

X3 17 km/h

« 4 8 km'h
Question ID : 630680369885
Option 1 ID : 6306801440934
Option 2 ID : 6306801440935
Option 3 ID : 6306801440936
Option 4 ID : 6306801440933

Status : Not Answered
Chosen Option : --
Q.20 G alone can do the work in 12 days and L alone in § days. They completed the work along with C in 4 days. So in how
many days C alone would have completed the work?
Ans X 1. 20 days

X 2. 12 days

« 3. 24 days

X 4. 5 days
Question ID : 630680369893
Option 11D : 6306801440966
Option 2 ID : 6306801440965
Option 3 ID : 6306801440967
Option 4 ID : 6306801440968

Status : Not Answered
Chosen Option : --




@2 \What is the value of 100% + 33+43-2°7?

Ans X 1. 65
X2 56
« 3. 60
X 4 59
Question ID : 630680369883
Option 11D : 6306801440928
Option 2 ID : 6306801440927
Option 3 ID : 6306801440926
Option 4 ID : 6306801440925
Status : Not Answered
Chosen Option : --
Q.22 piameter ofa sphere is equal to the length of the side of a square whose area is 4900 m?. Find the surface area of the
sphere. (m=22/7)
Ans
X 1. 61600 m?
X2 431200 m?
v % 15400 m?
X 4 8800 m?
Question ID : 630680369900
Option 1 ID : 6306801440993
Option 2 ID : 6306801440996
Option 3 ID : 6306801440994
Option 4 ID : 6306801440995
Status : Not Answered
Chosen Option : --




Q.23 The ratio of P’s salary to Q's salary is | : 3. The ratio of Q's salary to R’s salary is 3 : 7. If Ps salary is 34,200, what is R’s

salary?
Ans X 1. 216,450
« 2. %17.640
X 3. 39,850
X 4. 29,000
Question ID : 630680369891
Option 1 ID : 6306801440958
Option 2 ID : 6306801440960
Option 3 ID : 6306801440959
Option 4 ID : 6306801440957
Status : Not Answered
Chosen Option : --
Q.24 2 2 2 ;
Ifx+y+2z=0,and x* +y* +z°=-36, then find the value of xy + yz + xz.
Ans X' 1 6
X2 -6
X3 18
4 18
Question ID : 630680369896
Option 1 ID : 6306801440978
Option 2 ID : 6306801440980
Option 3 ID : 6306801440979
Option 4 ID : 6306801440977
Status : Not Answered

Chosen Option :




Q.25 Calculate the area of the triangle whose sides are a= 10 ¢m, b= 12 cmand ¢ = 10 cm.

Ans ¥
X129 cm?
5
¥ 2 48 cm”
X3 56 cm?
X4 35 cm?
Question ID : 630680369899
Option 1 ID : 6306801440992
Option 2 ID : 6306801440991
Option 3 ID : 6306801440990
Option 4 ID : 6306801440989
Status : Not Answered
Chosen Option : --
Section : English Language (Basic Knowledge)
Q.1 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in
the correct order to form a meaningful and coherent paragraph.
A. The Kola Super deep Borehole is the deepest artificial point dug up by Russians on
the earth’s surface.
B. Pechengsky is very close to the boundary that Russia shares with Norway.
C. It is a scientific drilling project of the Soviet Union that began in the Pechengsky
district.
D. The Russian engineers tried to drill as far into the crust of the earth as possible.
Ans 1. ACBD
5 2.ABDC
/< 3.ADBC
5 4.ABCD
Question ID : 630680369816
Option 1 ID : 6306801440658
Option 2 ID : 6306801440660
Option 3 ID : 6306801440657
Option 4 ID : 6306801440659
Status : Answered
Chosen Option : 1




Q.2

Ans

Select the most appropriate option to fill in the blanks.

Mount Everest has turned into the world’s garbage dump. As per an estimate by

National Geographic, each climber Everest generates around eight kilograms of

waste that includes abandoned food containers, tents and empty oxygen tanks. This
gets left behind across the icy landscape.

25 1. higher; at; junk
25 2. most higher; for; excess
2% 3. high; of; rubbish

«” 4. highest; on; waste

Question ID : 630680369820
Option 1 ID : 6306801440674
Option 2 ID : 6306801440676
Option 3 ID : 6306801440673
Option 4 ID : 6306801440675
Status : Answered
Chosen Option : 4
Q.3 Select the most appropriate option to fill in the blanks.
A report released by the South African government paints a grim of the
country’s water resources and water infrastructures ______ the overall quality of its
drinking water.
Ans X 1. painting; so well as
#< 2. photo; as soon as
«” 3. picture; as well as
5 4. print; as long as
Question ID : 630680369818
Option 1 ID : 6306801440665
Option 2 ID : 6306801440667
Option 3 ID : 6306801440666
Option 4 ID : 6306801440668
Status : Answered
Chosen Option : 3




Q.4

Ans

Select the most appropriate option to fill in the blanks.

The thief managed to the police by disappearing into the crowd. He tried not to

to the matter of his disease in his friend’s presence.
25 1. elude; elude

< 2. allude; elude
75 3. allude; allude

«” 4. elude; allude

Question ID : 630680369832
Option 1 ID : 6306801440722
Option 2 ID : 6306801440721
Option 3 ID : 6306801440723
Option 4 ID : 6306801440724
Status : Not Answered
Chosen Option : --
Q.5 Select the most appropriate option to fill in the blanks.
South Korea has recovered ______ the sea part of a rocket used by North Korea in its
failed attempt to launch the first military satellite last month. The South found debris
off its west coast soon after the launch, and a salvage operation with the
aim of studying the new rocket, news agency Reuters reported.
Ans o 1.from; began
2 2.in; begun
25 3. off; begin
< 4. at; beginning
Question ID : 630680369819
Option 1 ID : 6306801440671
Option 2 ID : 6306801440670
Option 3 ID : 6306801440669
Option 4 ID : 6306801440672
Status : Answered
Chosen Option : 3




Q.6 Select the most appropriate phrasal verb to fill in the blank.
The firemen had to the door to get into the burning house.

Ans X 1. break out
# 2. break in
o 3. break down
5 4. break away

Question ID :

Option 1 ID
Option 2 ID

Status

Chosen Option :

630680369823

: 6306801440686
: 6306801440687
Option 31D :
Option 4 ID :

6306801440685
6306801440688

: Answered

3

Q.7 Select the most appropriate meaning of the given idiom.
All thumbs

Ans X 1. Quick
X 2. Skilful
" 3. Clumsy
75 4. Artistic

Question ID

Option 3 ID
Option 4 ID

Chosen Option

: 630680369824
Option 11D :
Option 21D :

6306801440691
6306801440689

: 6306801440690
: 6306801440692
Status :
12

Answered




Q.8
Ans

Select the correctly spelt sentence.

«” 1. Anumber of water supply systems were flagged as being in a critical condition,
requiring urgent intervention.

< 2. A number of water supply systems were flaged as being in a critical condition,
requiring urgent intervension.

< 3. A number of water supply systems were flagged as being in a critical condition,
requirring urgent intervension.

& 4. Anumber of water suply systems were flaged as being in a critical condition, requiring

urgent intervention.

Question ID : 630680369830
Option 1 ID : 6306801440715
Option 2 ID : 6306801440713
Option 3 ID : 6306801440714
Option 4 ID : 6306801440716
Status : Answered
Chosen Option : 1
Q.9 Select the option that can be used as a one-word substitute for the underlined group
of words.
After completing his MBBS, he wanted to specialise in the study of tissues.
Ans X 1. Odontology

«” 2. Histology

2 3. Graphology

5 4. Petrology
Question ID : 630680369813
Option 1 ID : 6306801440645
Option 2 ID : 6306801440647
Option 3 ID : 6306801440648
Option 4 ID : 6306801440646

Status : Answered
Chosen Option : 3




Q.10 Select the most appropriate meaning of the given idiom.
Keep your chin up

Ans X 1. Have no need for anything at all
«” 2. Stay calm and hopeful in difficult situations
< 3. Be too proud to talk to others
5 4. Do something without thinking

Question ID : 630680369825
Option 1 ID : 6306801440696
Option 2 ID : 6306801440695
Option 3 ID : 6306801440693
Option 4 ID : 6306801440694
Status : Answered
Chosen Option : 2
Q.11 Select the option that can be used as a one-word substitute for the underlined group
of words.
The artist was an expert in making paintings depicting_the face of a person.
Ans X 1.landscapes

X 2. still-life

< 3. miniatures

o 4. portraits
Question ID : 630680369812
Option 1 ID : 6306801440643
Option 2 ID : 6306801440644
Option 3 ID : 6306801440641
Option 4 ID : 6306801440642

Status : Answered
Chosen Option : 4




Q.12 Select the most appropriate option to fill in the blank.

Dushasana is notorious his bad deeds.
Ans X 1.about
&K 2. 0of
< 3. over
o 4. for
Question ID : 630680369821
Option 1 ID : 6306801440680
Option 2 ID : 6306801440679
Option 3 ID : 6306801440678
Option 4 ID : 6306801440677
Status : Answered
Chosen Option : 1
Q.13 Select the most appropriate option to fill in the blank.
of grief were heard as visitors filed past the site of the disaster.
Ans X 1. Whales
o 2. Wails
25 3. Wales
< 4. Walls
Question ID : 630680369831
Option 1 ID : 6306801440720
Option 2 ID : 6306801440718
Option 3 ID : 6306801440717
Option 4 ID : 6306801440719
Status : Answered
Chosen Option : 4




Q.14 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in
the correct order to form a meaningful and coherent paragraph.
A. They gathered here to learn medicine, logic, mathematics and — above all —
Buddhist principles from some of the era's most revered scholars.
B. As the Dalai Lama once stated: "The source of all the [Buddhist] knowledge we
have, has come from Nalanda.”
C. Founded in 427 CE, Nalanda is considered the world's first residential university.
D. It was a sort of medieval vy League institution home to nine million books that
attracted 10,000 students from across Eastern and Central Asia.

Ans 1. CDAB
5 2. ADBC
< 3.CBDA
/< 4. DACB
Question ID : 630680369817
Option 1 ID : 6306801440663
Option 2 ID : 6306801440661
Option 3 ID : 6306801440662
Option 4 ID : 6306801440664
Status : Answered
Chosen Option : 1
Q.15 Select the most appropriate ANTONYM of the given word.
Sumptuous
Ans X 1. Extravagant
&< 2. Lavish
< 3. Luxurious
" 4. Economical
Question ID : 630680369828
Option 1 ID : 6306801440705
Option 2 ID : 6306801440707
Option 3 ID : 6306801440706
Option 4 ID : 6306801440708
Status : Answered
Chosen Option : 1




Q.16 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select ‘No substitution required’.
Strong winds and heavy rains lashed a parts of Gujarat as the cyclone Biparjoy
approached the coast of the state.

Ans X 1. No substitution required

< 2. lash a parts of Gujarat
o 3. lashed parts of Gujarat

& 4. was lashing the parts of Gujarat

Option 2 ID

Question ID :
Option 11D :

630680369815
6306801440656

: 6306801440654
Option 31D :
Option 4 ID :

Status :

Chosen Option :

6306801440653
6306801440655
Answered

1

Q.17 Select the most appropriate ANTONYM of the given word.
Chastise

Ans X 1. Discipline
" 2. Compliment
# 3. Correct
< 4. Censure

Option 4 ID

Question ID :
Option 11D :
Option 21D :
Option 31D :

630680369827

6306801440701
6306801440703
6306801440702

: 6306801440704
Status :
Chosen Option :

Not Answered




Q.18 The following sentence has been divided into parts. One of them may contain a

spelling error. Select the part that contains the error from the given options. If you

don’t find any error, mark ‘No error’ as your answer.

Most of the treatement plants in the sample / were found to be failing / in producing

acceptable drinking water.
Ans & 1. Most of the treatement plants in the sample

< 2. in producing acceptable drinking water

5 3. were found to be failing

5 4. No error
Question ID : 630680369829
Option 1 ID : 6306801440709
Option 2 ID : 6306801440711
Option 3 ID : 6306801440710
Option 4 ID : 6306801440712
Status : Answered
Chosen Option : 4
Q.19 Select the most appropriate synonym of the given word.
Abode
Ans X 1. Hospital
«” 2. Dwelling
< 3. Workplace
< 4. Town
Question ID : 630680369826
Option 1 ID : 6306801440700
Option 2 ID : 6306801440697
Option 3 ID : 6306801440698
Option 4 ID : 6306801440699
Status : Not Answered

Chosen Option :




Q.20 Select the most appropriate option to fill in the blank.

The wise care for quality the foolish care for cost.

Ans o 1. whereas
&2, still
< 3. moreover
£ 4. although
Question ID : 630680369822
Option 1 ID : 6306801440683
Option 2 ID : 6306801440681
Option 3 ID : 6306801440682
Option 4 ID : 6306801440684
Status : Answered
Chosen Option : 3
Q.21 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select ‘No substitution required’.
The work on a new Yamuna bridge in Delhi is likely to be completing by September
2023.
Ans X 1.to being completed
#< 2. No substitution required
. 3. to completing
«” 4. to be completed
Question ID : 630680369814
Option 1 ID : 6306801440650
Option 2 ID : 6306801440652
Option 3 ID : 6306801440649
Option 4 ID : 6306801440651
Status : Answered
Chosen Option : 4




Comprehension:
Read the given passage and answer the questions that follow.

A recent report by the United Nations’ Food and Agriculture Organization (FAO), Duke
University and WorldFish found that small-scale fisheries account for 40% of the global
fishery catch. Between 2013 and 2017, Asia contributed approximately 23 of the 37 million
tonnes caught, highlighting the importance of such enterprises for livelihoods and nutrition,
particularly in Asia and for women. The fishing in this sector involves low-tech and low-cost
family or community fishing along the coast and rivers with the catch most commonly sold in
local markets. The report is the most comprehensive look at small-scale fisheries, based on
data from 58 countries and territories, and involving 800 researchers, government officials,
and consultants.

The study found that the average economic value of annual landings from 2013 to 2017 was
almost US$77.2 billion globally, or 49% more than in the first study conducted in 2012. The
small-scale fisheries generated about 44% of the total economic value of catches in the
countries surveyed. In India, small-scale fishing generates an average annual landing value
between $1-4.3 billion, compared to over $4.3 billion in the US. It is estimated that around 10-
25% of the marine catch comes from small-scale fisheries.

Small-scale fisheries account for nearly 90% of global fisheries employment, with 60.2 million
people employed full-time in the value chain in 2016, compared to 7.3 million in large-scale
fisheries. These estimates were extrapolated from 78 national household surveys. China
leads the industry with 35.5 million people employed in the sector, followed by India with 13.1
million. The sector is also a significant employer for women, with an estimated 44.7 million
women participating in value chains or engaged in livelihood activities related to the sector,
representing 40% of people involved in the sector.

SubQuestion No : 22

Q.22 Which of the following is NOT true about the small-scale fishery in Asia?

Ans

«” 1. Fishing is normally carried out in high seas.
< 2. The catch is commonly sold in the local market.
< 3. Alarge number of women are engaged in the small-scale fishery sector.

< 4. ltis a low tech and low cost activity.

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

630680369809
6306801440631
6306801440630
6306801440632
6306801440629
Answered

3




Q.23
Ans

Comprehension:
Read the given passage and answer the questions that follow.

A recent report by the United Nations’ Food and Agriculture Organization (FAO), Duke
University and WorldFish found that small-scale fisheries account for 40% of the global
fishery catch. Between 2013 and 2017, Asia contributed approximately 23 of the 37 million
tonnes caught, highlighting the importance of such enterprises for livelihoods and nutrition,
particularly in Asia and for women. The fishing in this sector involves low-tech and low-cost
family or community fishing along the coast and rivers with the catch most commonly sold in
local markets. The report is the most comprehensive look at small-scale fisheries, based on
data from 58 countries and territories, and involving 800 researchers, government officials,
and consultants.

The study found that the average economic value of annual landings from 2013 to 2017 was
almost US$77.2 billion globally, or 49% more than in the first study conducted in 2012. The
small-scale fisheries generated about 44% of the total economic value of catches in the
countries surveyed. In India, small-scale fishing generates an average annual landing value
between $1-4.3 billion, compared to over $4.3 billion in the US. It is estimated that around 10-
25% of the marine catch comes from small-scale fisheries.

Small-scale fisheries account for nearly 90% of global fisheries employment, with 60.2 million
people employed full-time in the value chain in 2016, compared to 7.3 million in large-scale
fisheries. These estimates were extrapolated from 78 national household surveys. China
leads the industry with 35.5 million people employed in the sector, followed by India with 13.1
million. The sector is also a significant employer for women, with an estimated 44.7 million
women participating in value chains or engaged in livelihood activities related to the sector,
representing 40% of people involved in the sector.

SubQuestion No : 23
Based on the given passage which of the following statements is correct ?
& 1. Small-scale fisheries account for a meager portion (40%) of the global fishery catch.
< 2. Small-scale fisheries are trivial for livelihoods and nutrition, especially in Asia and for
women.

£ 3. These fisheries typically involve low-tech, low-cost family or private angling, with most
of the catch being sold in local markets.

«” 4. Asia, particularly, has a vital contribution to small-scale fisheries, with approximately
23 million tonnes caught between 2013 and 2017.

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

630680369811
6306801440639
6306801440638
6306801440640
6306801440637
Answered

4




Q.24

Ans

Comprehension:
Read the given passage and answer the questions that follow.

A recent report by the United Nations’ Food and Agriculture Organization (FAO), Duke
University and WorldFish found that small-scale fisheries account for 40% of the global
fishery catch. Between 2013 and 2017, Asia contributed approximately 23 of the 37 million
tonnes caught, highlighting the importance of such enterprises for livelihoods and nutrition,
particularly in Asia and for women. The fishing in this sector involves low-tech and low-cost
family or community fishing along the coast and rivers with the catch most commonly sold in
local markets. The report is the most comprehensive look at small-scale fisheries, based on
data from 58 countries and territories, and involving 800 researchers, government officials,
and consultants.

The study found that the average economic value of annual landings from 2013 to 2017 was
almost US$77.2 billion globally, or 49% more than in the first study conducted in 2012. The
small-scale fisheries generated about 44% of the total economic value of catches in the
countries surveyed. In India, small-scale fishing generates an average annual landing value
between $1-4.3 billion, compared to over $4.3 billion in the US. It is estimated that around 10-
25% of the marine catch comes from small-scale fisheries.

Small-scale fisheries account for nearly 90% of global fisheries employment, with 60.2 million
people employed full-time in the value chain in 2016, compared to 7.3 million in large-scale
fisheries. These estimates were extrapolated from 78 national household surveys. China
leads the industry with 35.5 million people employed in the sector, followed by India with 13.1
million. The sector is also a significant employer for women, with an estimated 44.7 million
women participating in value chains or engaged in livelihood activities related to the sector,
representing 40% of people involved in the sector.

SubQuestion No : 24

60.2 million people were employed full time in the small-scale fisheries in
2016.
«” 1. across the world

< 2.in China alone
< 3.in India and China
X 4.in Asia

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

630680369810
6306801440636
6306801440634
6306801440635
6306801440633
Answered

1




Comprehension:
Read the given passage and answer the questions that follow.

A recent report by the United Nations’ Food and Agriculture Organization (FAO), Duke
University and WorldFish found that small-scale fisheries account for 40% of the global
fishery catch. Between 2013 and 2017, Asia contributed approximately 23 of the 37 million
tonnes caught, highlighting the importance of such enterprises for livelihoods and nutrition,
particularly in Asia and for women. The fishing in this sector involves low-tech and low-cost
family or community fishing along the coast and rivers with the catch most commonly sold in
local markets. The report is the most comprehensive look at small-scale fisheries, based on
data from 58 countries and territories, and involving 800 researchers, government officials,
and consultants.

The study found that the average economic value of annual landings from 2013 to 2017 was
almost US$77.2 billion globally, or 49% more than in the first study conducted in 2012. The
small-scale fisheries generated about 44% of the total economic value of catches in the
countries surveyed. In India, small-scale fishing generates an average annual landing value
between $1-4.3 billion, compared to over $4.3 billion in the US. It is estimated that around 10-
25% of the marine catch comes from small-scale fisheries.

Small-scale fisheries account for nearly 90% of global fisheries employment, with 60.2 million
people employed full-time in the value chain in 2016, compared to 7.3 million in large-scale
fisheries. These estimates were extrapolated from 78 national household surveys. China
leads the industry with 35.5 million people employed in the sector, followed by India with 13.1
million. The sector is also a significant employer for women, with an estimated 44.7 million
women participating in value chains or engaged in livelihood activities related to the sector,
representing 40% of people involved in the sector.

SubQuestion No : 25

Q.25 The most appropriate title for the given passage is:

Ans

«” 1. Big Contribution of Small-Scale Fisheries to Jobs and Nutrition
< 2. Small-scale Fisheries Around The World
< 3. National Household Surveys of Small-Scale Fisheries

& 4. Participation of Women in Small-Scale Fishery Sector

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

630680369808
6306801440626
6306801440625
6306801440628
6306801440627
Answered

4






